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INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD

CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR

MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST

BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number

and Test Booklet Series Code A, B, C or D carefully and without any omission or discrepancy

at the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test

Booklet in the Box provided alcngside.

DO NOT write anything else on the Test Booklet.

This Test Booklet contains 150 items {(questions) in two Parts: PART-A and PART-B. Eachitem in PART-B is

printed both in Kindi and English. Each item comprises four responses (answers). You will select ihe response

which you want to mark onthe Answer Sheet. In case you feel that there is more than ane comect response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all yourresponses ONLY on the separate Answer Sheetprovided. See directions

in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test

Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you

with your Admission Certificate.

After you have completed filling in all your response on the Answer Sheet and the examination

has concluded, you should hand over to the Invigilator only the Answer Sheet You are permitted

to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which
a wrong answer has been given by the candidate, one-third of the marks assigned to
that question will be deducted as penalty.

(iiy If a candidate gives mare than one answer, it will be treated as a wrong answer even if
one of the given answers happens to be correct and there will be same penalty as above
to that question.

(i If a question is left blank, i.e., no answer is given by the candidate, there will be no
penalty for that questions.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
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Ans.

Ans.

Ans.

Ans.

10.

Ans.

Ans.

Ans.

PART-A

Directions (For the 10 items which follow) :
Each of the following items consists of a sentence followed by four words or groups of words. Select the
synonym of the word (occurring in the sentence in capital letters) as per the context.

One must live life with DIGNITY.

(a) Nobility {(b) Eminence (c) Honour (d) Rank

(c)

Europe, America and Japan have taken to the field of science with SINGULARvigour and activity.
(a) Peculiar {b) Outstanding (c) Familier (d) single

(a)

Our age is preeminently an AGE of science.

(a) Era (b) Date (c) Generation (d) Moment

(a)

Ant is believed to be the most INDUSTRIOUS creature.

(a) Sensible (b) Sucessful (c) Diligent (d) Punctual

(c)

The schoels insist on giving WHOLESOME food to the children for the proper growth of their mind and
body.

{a} Whole crops (b) Nourishing (c) Fit (d) Sound

(b)

As | look around | see the crumbling ruins of a proud civilization strewn like a vast heap of FUTILITY.

(a) Irrelevance (b) Absurdity (c) Pointlessness (dy Downtrodden
(c)

Mark Antony’s EULOGYof Caesar is finely recorded by Shakespeare in his play.

(a) Prayer (b) Honour {c) Praise (d) Denunciation
(c)

By 1918, Gandhiji had established himself as a leader with UNIQUE way of protesting exploitation and
injustice.

(a) Different {b) Exceptional (c) Excellent {d) Good

(b)

Your INTERVENTIONwas required.

(a) Interference (b) Interruption (c) Disturbance {d) Connection
(a)

It is difficult to DISCERNthe sample on the slide without adjusting the microscope.

(a) Discard (b) Arrange (c) Determine (d) Debate

(c)

Directions for the Close comprehension Passage (For the 20 items which follow) :
Supply suitable word in the blank of each item which is followed by four words or groups of words.

In a few seconds we ran the boat into a little bay, where we made her fast to a piece of coral, and running
up the beach, entered the ranks of the penguins armed with our sticks and spears. We were greatly
surprised to 11.

(a) find (b) learn {c) hear (d) understand

(a)

that instead of attacking us or12
(a) showing (b} giving {c} revealing (d) conveying

(a)

..ﬂ_m ﬁ Page # 2

CLASSES

www.guptaclasses.com

Leader in Test preparation




Ans.

Ans.

Ans.

Ans.

Ans.

Ans,

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

GUPTA

sings of fear at our 13

(a) arrival (b) entry
(a)

these strange birds do not have 14
(a) in (b) at

(c)

their places until we took hold 15
(a) off (b) of

(b)

them, merely 16

(a) opened (b) turned
(b)

their eyes on us 17

(a) with (b) out of

(b)

wonder as we passed. There 18
(a) lived (b) existed
(c)

one old penguin, however that 19
(a} commenced (b) began

(b)

to walk slowly towards the sea, and Peterkin 20

(a) carried (b) bore
(d)

it into his head that he 21

(a) would (b) could
(b)

try to stop it, so he 22

(a) interposed {(b) ran
(d)

between it and the sea and 23
(a) moved (b) pointed
(b)

his stick in its face. But this 24
(a) appeared (b} happened
(c)

to be a determined old 25
(a) bird (b) animal
(c)

It would not go back ; in fact, it 26
(a) should (b) would
(b)

not cease to advance, but 27
(a) battled (b) struggled

(b)

{c) approach

{c) from

() from

(c) closed

(©in

(c) was

(c) continued

{c) took

{c) should

(c) arrived

(c) waved

(c) proved

(c) creature

(c) could

{c) contested

(d) alight

(d) on

(d) on

(d) showed

(d) on

(d) persisted

(d) stalked

(d) thought

(d) won't

(d) jurped

(d) watched

(d) seemed

(d) pet

(dy must

(d) snugged
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with Peterkin bravely, and 28

(a) chased (b) drove {c) moved (d) lashed
Ans. (c)

him before it until it 29

(a) touched (b) arrived at {c) reached (d) jumped
Ans. (c)

the sea. Had Peterkin used his 30

(a) baten {(b) stick (c) spear {d) club

he would have easily killed it.
Ans. (€)

Directicns (For the 10 items which follow) :

(i) In this section, a number of sentences are given. The sentences are underlined in three separate parts
and each one is labelled (a), (b) and {c}. Read each sentence to find out whether there is an error in any
underlined part.

No sentence has more than one error. When you find an error in any one of hte underlined parts (a), (b) or
(c), indicate your response on the Answer Sheet at the appropriate space. You may feel that there is no
error in a sentence. In That case (d) will signify a ‘No error' response .

(i) Errors may be in grammar, word usage oridioms. There may be a word missing orthere may be a word
which should be removed.

(iii) You are not required to correct the error. You are required only to indicate your response on the Answer
Sheet,

If you will work hard  you will always succeed No error

31.

(a) (b) (c) (d)
Ans. (a)
32 She has been teaching dancing atthe victory since five days No error
' (a) (b) (c) (d)
Ans. (c)
33 Manya boy were happy  dancing atthe victory of our cricket team in Australia No error
' (a) (b) (c) (d)
Ans. (a)
" Imagine living with someone who never stops talk. No error
' (a) (b) (c) (d)
Ans. (c)
25 | was shocked  when he told me that the old woman died by cancer. No error
' (a) (b) (c) (d)
Ans. (c)
36 To the men who worked so hard in the project, the news was profound disappointing No error
' (a) (b) (c) (d)
Ans. (c)
- Even though she lost the beauty contest, she was still moreg prettier than the other girls. No error
' (a) (b) (c) (d)
Ans. (b)
GUPTA @ Page # 4
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38.

Ans.

39.

Ans.

40.

Ans.

1.

Ans.

42,

Ans.

43.

Ans.

Ans.

45.

Ans.

46.

Ans.

47.

Ans.

48.

Ans.

49.

Ans.

50.

Ans.

The novelis interesting, informative and itis easy to read No error

(a) (b) (c) (d)

(c)

The differential attractions of the sun and the moon have a direct effect in the rising and falling

(a) L)

of the tides. No error
(©) (d)
(b)

Despite of the pills  which are available, many people still have trouble sleeping  No error

(a) (b} (c) (d)

(c)

Directions (For the 10 items which follow) ;
Each of the following items’ consists of a sentence followed by four words. Select the antonym of the word
{occurring in the sentence in capital letiers) as per the context.

Herillness ENERVATED the whole family.
{a) Enhanced (by Exhausted {c) Weakened {d) Energized
(d)

The teacher INSERTED another picture to illustrate the point.
{a) Deducted (b)y Added {c) Removed (d) Reclined

(c)

The committee rejected his LUDICROUS proposal.
(a) Absurd (b) Reasonable (¢) Farcical (d) Stupid

(b)

Children ADORE the cricket players.
(a) Discuss {h) Condemn {c) Benefit {d} Check
(b}

These people are sunk in abysmal ignorance and theirilliteracy 1s simply COLOSSAL.
{a) Intolerable {b) Huge {cy Small {d} Silly
(c)

Previously per capita income used to INCREASE by seven rupees per year.
{a) Dwindle (b) Diminish {c) Mitigate {d) Profit
(b)

Inthe modern times, we find that most social relationships are rather ARTIFICIAL.
{a) Decent (b) Genuine {c) Excellent (d) Adorable

(b)

Social LIBERTYmay be instrumental in the emotional growth of a person.
{a) Constraint (b) Slavery {c) Compulsion {d) Obligation
(b)

Education is most ESSENTIAL for the all-round development of a person.
{a) Unimponrant (b) Disdainful {c) Customary (d) Redundant

(a)

He was extremely MODEST in company.
(@) Curious (b) Virtuous (¢) Unassuming (d) Immodest
(d)

@_PE Page#§6
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PART-B

1. The pH of fresh milk is 6. When it turns sour, the pH

(a) becomes < & (b)Y remains the samei.e., 6
{c) becomes > 6 (dy becomes neutral, i.e., 7]
o g9 ® pH B8 & | W9 I8 WS 8 ok © a pH
(a) <6 T o 8 (b) IET IEA1 2, UlT 6
(c) >6 8 wrar g (d) SETHIF & W g aerd 7
Ans. (a)
52. The displacement of a particle is given by x = cos? wt. The motion is
(a) simple harmonic (b} periodic but not simple harmaonic
(c) non- periodic (d) None of the above
ferfl Fo1 1 AR x = cos? ot ST &0 12 2| 7If #m & 2
(@) T g (b) STt by W Smad A8l
(c) STTef (d) SWF H | PIF A
Ans. (a)
Sol.  x=cos%et
_ 1+ cos2mt
=

l—1ccns2t
X = > = 2 m

this is equation of S H.M.

63. A motor vechicle is moving on a circle with a uniform speed. The net acceleration of the vehicle is
{a) zero
(b} towards the centre of circle
{c) away from the centre along the radius of the circle
(d) perpendicularto the radius and along the velocity

Bl Al 98- THEAE O A f&d 99 ) TfaEs | i #1 AT @9
(@) T

(L)Yga P T W AT L

(¢) g9 3 o & arIfes & ¥ aEx P aE

(d) o @ ejera e 9 @ argfaer B

Ans. b
Sol. E{\;))anicle moving in a circle require centripetal force. This is always towards the centre,
54. An object is undergoing a non accelerated motion. Its rate of change in momentum is
(a) a non-zero constant (b) zero
(c) not a constant (d) None of the above
B3 MUve @IUEN T PR QT & | §AS [T IRTAA PR w18 7
(a) YA (b) 3=
OEMEE] (d) ST H ¥ HIE T2
Ans. (bh)
Sol.  As acceleration is zero so force is zero thus rate of change of momentum is zero. Thus momentum is
constant.

GUPTA
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58.

Ans.

Sol.

56.

Ans.

57.

Ans.

58,

Ans,

Electron Motion

F 3

P
™

Magnetic Field

»

The motion of an electron in presence of a magnetic field is depicted in the figure. Force acting on the
electron will be directed

(a) into the page (b) out of the page
() opposite to the motion of the electron (d) along the motion of the electron
ENE RIS
FHED &H

IR QA MY ome # fFd eag &3 i e | va goag= @ ifd &1 RfEa fF w2 | 859 seagi=
TR PG 9

(@) U & a=x & AR 2| 8 (b) U9 & IR B IR [AER¥E B
(©) soac & Ty B faudia S (d) ST B T B srgfew g
(b)

F=qvxB

Imagine a current carrying wire with the direction of current downward or into the page. The direction of
magnetic field lines is

(a) clockwise (b) anti-clockwise (c) into the page (d) out of the page

FEGET AT US P =R B IR GRT B 20 a1l fH Riarsd R B a1 DY | EHIG A @S
0 foem Fr 8 ?

(a) SfEroTa VEKIES]

(C) U B 3R P MR (d) U9 & TR T AR

(a)

The main thinking part of the brain is

(a) midbrain (b) hypothalamus {c) forebrain (d) hindbrain
wRash HT g A diell 9 HeE—ar & ?
(a) AHRash (b) SEIAZAD (c) MRash (d) d=mfTss

(c)

Which one among the following hormones stimulates the plant cells to grow in a manner such that the plant
appears to be bent towards light ?

{a) Cytokinin {(b) Auxin (c) Gibberellin {d) Abscisic acid

fe=feifRaa & 9 9 —1 M7 7Sy SIERT @ 39 UGR 981 & oy URT $val &, 799 gy merer $1
3R 9T g Ul B & 7

Ez)) AggIEsHT (b) e (c) RFarfer= (d) Tt o

G UP TA. Page #7
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59.

Ans.

60.

Ans.

Sol.

61.

Ans.

Sol.
62,

Magnetic Resonance Imaging (MR} is used in medical diagnosis to obtain image of our internal body
organs. This is primarily possible because

(a) our body possesses a permanent magnet

(b) MRI uses an external magnet to generate a magnetic field in our body

(c) MRI uses an external electric field to generate magnetic field in our body

(d) icn's motion along our nerve cells generates magnetic fields.

BRI STT=I% TR 71 Bl uidfdm uia e @ v Rid=y fFam gadia sgar fm 3wy (MRI) 9ge
fepan e €1 g8 HEaa: R awE R

(a) TR IR H Wl gET 2

(b) TR TR | ST AF A T P 7T MRI TR =S T GAT HA &

() TR WR H g &7 T v P e MRI ST faq 83 & 53T e 2

(d) TR dfrT HIfTERT & Ay emEel R g &7 U= B F

(b)

The motion of a particle is given by a straight line in the graph

given above drawn with displacement (x) and time {t). Which

one among the following statements is correct ?

(a) The velocity of the particle is uniform X
(b) The velocity of the particle is non-uniform

(c) The speed is uniform and the particle is moving on a circular path

(d) The speed is non-uniform and the particle is moving on a

straight line path 1

O
v

SR RU 10 e &t &9 & 9ifd F1 faeme (x) &R Fy
T (1) & G 9 T U W) 3G gRT ST W 2 |

frrfafed 4 @ 19— 1% 99 9 8 ?

(@) B &1 T THaqE 2 X
(D) B BT AT IGAT &

(C) I T& HAM B 3R U (& JOSR 9 9= I 2 |

(d) T ATFHH T 3R FY TF WA @9 W A 2 | ')
(a)

Slope is constant, slope of x, t graph gives velocity, so velocity is constant.

Y

The human eye is like a camera and hence it contains a system of lens. The eye lens forms
(a) a straight or upright, real image of the object on the retina

(b) an inverted, virtual image of the object on the retina

(c) an inverted, real image of the object on the retina

(d) a straight or upright, real image of the object on the iris

AE A9 Uh BT & AN B, I 599 TP o T B U o s 2 7
(a) gicuca R Mg o1 D1 o1 FHwEler s ufifes

(b) e W fIvg 1 wfTelifya, smarRd wfdfas

(c) gfcued W five &1 wfoetha, ardfas afafas

(d) ameRT W Avs &1 W &1 Featy, arafas gfafas

(c)

Real image is formed on retina

Match List -1 List-1l and select the correct answer using the code given below the list :

List-l List-ll
(Rock Type) {Composition)
A Sandstone 1. Rock formed from peat or other organic deposits
B. Limestone 2. Clay, breaking easily into flat flake plates
C. Coal 3. Calcium carbonate formed by precipitation
D. Shale 4, Cemented sand Grains
Code :
A B C D A B c D
(a) 4 1 3 2 (b) 2 3 1 4
(c) 2 1 3 4 (d) 4 3 1 2

G__;U.__PE Page # 8
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T -l G -l gHier @haT HIR i @ S ™Y U @ @ 9A FR el 99 gieu

gt -l gt -l
Erd JER) (FHe)
Al EISEAES 1. Ot A1 3 dEfe [enw ae 9
B. Y- 2R 2. FTAFN ¥ 9T U9F el § g2 arel g
C. BT 3. AT ¥ a1 bfedsm Hatte
D. NI 4. FAIRTT are] BT
r}z\(; :
A B C D A B c D
(a) 4 1 3 2 {9)] 2 3 1 4
) 2 1 3 4 ) 4 3 1 2
Ans. (b)
63.  The 'Golden Quadrilateral’ which connects Delhi, Mumbai, Chennai and Kolkata passes through
(ay Amritsar — Ahmedabad — Pune — Patna (b) Jaipur — Porbandar— Hyderabad- Varnasi

(¢} Vadodara—Pune- Visakhapatnam- Varanasi (d) Nagpur— Bhopal- Surat- Amritsar
faeell, Gg, 918 SR HTaAdEl &l Sligd e WOl agys &l ¥ ol & 7

(@) IOER — eI — gU‘[ .chll (b) TG — GRA=R— BSRME — ARV
(c) ISIENT —J9 — faRIETIe 24— IRIVTRAl (d) AATTYR — 9T — JA— AR
Ans. (c)
64. Delhi Mumbai Industrial Gorridor connects the political and business capital of India. Arrange the States

from highest to lowest in terms of the length of the cormdor passing through them.
{a) Maharashtra—Gujarat—Rajasthan—-NCR-of Delhi

{b) NCR of Delhi—Uttar Pardesh— Rajasthan—-Maharashira

{c} Rajasthan-Gujarat-Maharashtra—NCR of Delhi

{d) Maharashtra—Rajasthan-Uttar Pradesh — NCR of Delhi

fereel], ras SiTEies MerRT 9Ra @ Ira=ad 313 ARG a9 B Aedl & | oAl B ITH H Ba
oA qTel TITAR @) g @ SUR TR Svddq 3 <4Aad &l AR & $HA § Faied kg |
(a) HERTE TSI —ITorerd — fGeei-NCR
(b) foeell NCR ST% "g3I- Ioia#— AENTS
(€) R 5T —HeNTs; —f&ee NCR
(d) TERTE — Tov-g9ay q29 — faeell NCR
Ans. (c)

65. Which of the following statements is/are true ?
1. The angle of the axis in relation to the plane in which the earth revolves around the sun is not constant.
2. The amount of energy given off by the sun changes with the transparency of the atmosphere.
Select the correct answer using the code given below,
(a) 1 only (b) 2 only (¢) Both 1 and 2 {d) Neither 1 nor 2

fertfoarfad # & d-w / § FoF TA &/ 2 7

1. i w9de d 9l g & AR SR IRFH SRl B S9S TR H SE F BV SER A8 2 |

2.3 ¥ R SIS W arell Sl @1 AR argEvSd $HI IRl & A1 gl B

AR fRG Y FE F1 yA FW FE SO G |

(a) $T 1 (b) T 2 (©) 1= 2 21 (@=a1=3 2
Ans. (a)

GUPTA
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66.

Ans.

Sol.

67.

Ans.

68,

Ans.

69.

Ans.

70.

Ans.

A car is moving with a uniform speed. However its momentum is changing. Then ihe car
(a) may be on an elliptical path

(b) is moving cn a straight path without acceleration

{(c) is moving on a straight path with acceleration

(d) is moving without any acceleration

BT FR THEAM I W AAH 8, FE(G ST A7 96 @1 2 | 99 98 DR

(a) g 9 W T FwHA 8

(b) fo1 =~w1 & ot A9 g w wfow= 2

(c) wvor gfeq faelt Wer g w® afewe 2

(d) fomm1 P &@ReT & o 2

a

E\s) speed is constant, so direction of velocity changes, thus it can not be a straight line path and it should be
accelerated.

Ohm's law defines

{a) a resistance {b) current only

{C) voltage only {d) both current and voltage
3 F1 fFram = gRvifed swar 27

(a) TfeRrg (b) BT °RI

(c) BT dAreeal (d) &RT SR drecdr IIE1

(a)

Which of the following statements about sexula reproduction in flowering plants are correct ?

1. Stamen is present in the centre of a flower. 2. Stamen produces pollen grains in the overy.
3. The swollen bottom part of carpel is the ovary. 4. The fusion of germ cells gives rise to zygote.
Select the correct answer using the code given below.

(a) 2,3 and 4 only (b) 2 and 4 only {c) 1 and 3 only (dy 1,2, 3 and 4 only
el gedl # dffie T @ AR ¥4 frefaied § @ S TR 99 2

1. 988, 99 & $< ¥ f3emE 81 2 2. PR, ATSRY H WAV I+ BT 2 |
3. 3789 P Gl g O AT ATSA B | 4. 7 PN & Forad § oA Ied=1 el ¢ |
A fer M g B g F GE IR FA|

(a) T9d 2, 3 3T 4 (b) T 2 3R 4 {c) BT 1307 3 (d)1,2,330 4

(c)

The complete digestion of carbohydrates, proteins and fats occurs in

(a) stomach (b} liver {c) small intestine (d) large intestine
FriEgge. NER R 7 w1 gof aee e g 2

(a) WX (b) TEHT (c) g (d) g3<14

(c)

Which one among the following statements about a healthy diet is correct?

(a)Regular eating of high-energy snacks between meals is healthy since it provides energy and vitamins in
lent

?b) Ffuits and vegetables make a good choice because their energy content is high

{c) A balanced diet must contain plenty of fat and protein with little carbohydrates and fibre

(d) An optimal quantity of fat, protein carbohydrate with adequate amount of water and fibre makes a

healthy diet.

TR MER & IR ° fFrafafad § ¥ $19-391 06 F99 =1 27

(@) HITAl & 91 T Sl 27 9T AARER AT @HET @edss 8 FiiE 92 9garad d Sl R [@erfE

PEALTG TG I

(b) e AR FisTdl B TH= PN ST &1l 8 TS ITH Sl I AT AE 8l & |

(C) AT oMBR ¥ 91 3R WA @) ggarad & A FAd PEIegse 3R Y20 241 & =13y

(d) a1, WS 3 FEiEEST & STad AT @ ARl Tdi "4 H 9o SR 30 WReTH JMER 96T B |
(d)

GUPTA ‘ Page # 10
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71. The Nobel Prize in Medicine forthe year 2012 has been awarded to John B. Gurden and Shinya Yamanaka

for the discovery that

(a) mature specialized cells can be reprogrammed to become immature cells
(b) stem cells can be programmed to develop individual body organs

{(c) dendritic cells have a critical role in the development of adaptive immunity
(d) thymus cells have a critical role in the development of innate immunity

S 4. ReE SR R aEn @1 ) e @ Y gd 2012 ®1 aygfden W Aee R e Tar?
(a) IRum faftre Fiftrest o smafRue HIf¥mmei 4 9ga o= @ forg g WM fFar o w@ar 2

(b) w1 (H) PR @ @fiend o’k & fawfag = & forg wrom fea o1 gwar 2
(c) Tisfer=y HIframsl o, argagel Ay swar @ o 4 wifae v 2
(d) uTETa FHITEST F e LA F FH H Fmiae Jfra 2

Ans. (a)

72. The sex of a newborn boby is determined by the chromosome inherited from

(a) the mother

(b) the father

(c) mother's mother (d) father's father

Fare ¥re] & {1 HgiRer a9 99mE gU IUgE g f6ar o |9 22

(@) AT (b) foe {c) HIT H! Hel (d) a1 &1 faer
Ans. (b)
73. Arrange the following events that took place in the first decade of the 20th century in chronological order ;

1. Indian National Congress, Bombay Session

3. Partition of Bengal

2. Establishment of All India Muslim Lengue
4. Indian National Congress, Surat Session

Select the correct answer using the code given below.

(a) 1-2-3-4

(b) 1-3-2-4

(c) 4-3-2-1 (d) 2-4-1-3

209" vaTed) @ Ugel &F A B drell fiafiEad gednel Bl SIareH H @aierd S |

1. ARG I BUH g8 faeE

2. 3l sftear gRe™ AT @7 R

3. 9 &1 aHTH 4. M T ®IUE, 34 g9
R fer T HE & gET w GE IR g |
(a) 1-2-3-4 (b) 1-3-2-4 {c) 4-3-2-1 (d)2-4-1-3
Ans. (b)
74. Match List-l with List-Il and select the correct answer using the code given below the lists :
List-I List-Il
(Peasant Movement) {Region)
A, Mappila outbreak 1. Maharashtra
B. Ramosi peasant force 2. Bengal
C. Kuka revolt 3. Malabar
D. Pabna revolt 4, Punjab
Code :
A B C D A B c D
(a) 3 1 4 2 {b) 3 4 1 2
(c) 2 4 1 3 {d) 2 1 4 3
G-l &7 G-I A garea FIRTY i gl & S {7 U fe @ 5E & A 39 g6
- Eell
(FIE AT<Tel) GE)
A. CIEEREEE 1. HERIE
B. AR FYF g 2. ERIGH
C. HHl [AEE 3. AR
D. BICEINCEATS 4. BEIE|
Hhe
A B C D A B C B
(a) 3 1 4 2 {b) 3 4 1 2
(c) 2 1 3 {d) 2 1 4 3
Ans. (a)
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75.

Ans.

76.

Ans.

77.

Ans.

78.

Ans.

79.

Ans.

80.

Ans.

81.

Ans.

Consider the following statements about Periyar E.\. Ramaswamy :

1. He was a politician, social activist and an important figure in the dravidian movement in South India.
2. He championed the cause of caste upliftment, nationalism and the rights of women.

3. He was contemporay of the Maharashtran anti-caste reformer, Jyotiba Phule.

Which of the statements given above isfare correct?

(a) 1 only (by 3 only {cy1and 3 (d)1 and 2

TR 4. smErt @ IR | fFEfofad sl w® fGar Aifv

1.9 v vafas amifse afsaaEc i @i ara | sfos sr<eiom @ e gyt afdm A
2.3 T S U SR TR e @ SEva B w9

3.9 AN ¥ Wifo-fRE guRe Sifaar o & wwete 9 |

ST F | IF-1/F HAF T 2/87

(a) T 1 (b) BIA 3 (c) 1307 3 (dy1 3R 2

(d)

Two atoms are said to be isotopes if

(a) they have the same atomic number but different mass numbers

(b) they have the same number of neutrons but different mass numbers

(c) the sum of the number of protons and neutrons is the same, but the number of protons is different
(d) they have the same number of neutrons but different modes of radioactive decay
31 RATT P GHRATG T2l A 2, IS

(8) BT YLHIY]—BATS GHIA B, R 9% Feq9H 61 7= &

(b) ITH =LA F) F&A FAF 8, W TR G&@A 7= 8

() STH Wi R ST B W H1 ARTBA HHM 1, IR WS DI Fw&r 0= 8
(d) STH ZHI F T GHE 71, R ASANfGET arg g = @

(a)

The phencmenon of radioactivity was discovered by

(a) Marie Curie (b) Pierre Curie {c) Henri Becquerel (d) J.J. Thomson
eanfdeam & ofkger 9 Qe & 7

(@) 71w (b) 'R () 8T THIA (d) ST, ATHEA
(c)

The principle of cleaning by soap is

(a) surface tension (b) floatation {(c) viscosity (d) elasticity
g7 g1 e &1 @ fagra §7

(a) I T (VRSER (c) 3aT=Tan (d) G

(a)

Sodium stearate is a salt and is used

(a) in gunpowder (b} in paint (c) to make soap (d) to make fertilizer
s ReWve Us ofaor 2 | 72 fead gge &l 27

(a) THe A (b) U= # (c) YA T H (d) Sd¥F a9 |
(c)

The pure form of carbon is

(a) diamond (b) graphite (c) charcoal () fullerene
FTEA F Yg B w1 77

(a) a1 (b) ¥HTEC () IRBTA (d) HelRA

(b)

Which one among the following countries was least affected by the tsunami that hit the Indonesian Ocean
on 26th December, 20047

(a) Indonesia (b) Malaysia {c) Sri Lanka (d) India

26 fawwR, 2004 4 SSIRMATE HEMITR ¥ 3¢ AW gRT =l § § S ae =gaq yAiida gam?
(a) se3mn (b) At (OEIGED (d) Ra

(c)
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82.

Ans.

83.

Ans.

84.

Ans.

85.

Ans.

86.

Which one among the following statements is not true about Bahadur Shah Jafar 11?
(a) The rebels of 1857 proclaimed their loyalty to him

(by He was killed by Lt. Hodson a cavalry officer in Delhi

{c)} He was reluctant to lead the Revolt of 1857 in the beginning

{d) He was a poet

98157 ¥ 9I%R fad @ an # fA=fofEg 8 § i e e 98 T8 27
(a) 1857 @ fagifear 7 s9@ forv ameil gwerR @ Sguigo @

(b 3 A= A sraridl e wffesie gigE s g AN T

(c) YT ¥ A 1857 & fAGIE B TS T & g=gd 8l 2

{d) A up bfd 2

(b)

Which one amone the following statements is true about Lord Curzon?

(a) He had full sympathy for the Congress

(b) He introduced th eSubsidiary Alliance

(¢) He succeeded Lord Canning as the Viceroy of India

(d) He separated the divisions of Dacca, Chittagong and Rajshahi from the province of Bengal and annexed
them to Assam.

A TR & Ix ¥ fHfafad § 9§ 21991 U w9 T8 87

(@) BHA & AT IS goi FRgHfer =N

(b) =19 Herg Hig g #

() IRA B dZIRTI & w0 H dfe AT & ITIREN 74

(d) T2 FTH facTita SR oMM & W BT 977 S ARG U ST f 3R Sw aRm # e fomn
(d)

Which one among the following statements about Civil Disobedience Movement is correct?

(a) It started with Gandhiji's march to champaran

{by Under Gandhi-Irwin agreement the Congress agreed to give up Civil Disobedience Movement
{c} The British Government was quite soft towards the movement from the beginning

{d) There were no violent incidents during the movement

[T Fae FTRied @& an H FEfafaa ¥ 9 iV e U 98 2?

(@) T8 TS @ TR AfeaE § U gan

(b) Tt == w9 & i\ | wfaTa 3ag T=iad & BIS 39 B FeAd g3
(C) BUST TRBR YH U & JAT=IeA BT AR goiaar T4 =i

(d) 3T=EIer ® SN HIE AT geA TE g

(b)

The greatest stylistic forms of temple architecture during the early medieval period were the Nagara, the
Dravida and the Vesara. Which of the following was the geographical spread of the Dravida style?

(a) Between Vindhyan and Krishna river (b) Between Krishna and Kaveri rivers

(c) Between Vindhyan and Kaveri river (d) Between Godavari and Krishna rivers

AR, a8 K 98, TN F$d & SRIC Afey grgdel & Aead el w9 o | Frefifad 5 9
FHIE], G el & Ao AR en?

(a) foren R W 7<) & 4" (b) TN SR HEA A & A=
(o) forem ok 190 751 & d= (d) =T IR Fwm AR & A=
(d)

Consider the following statement

No Indian could have started the Indian National congress. . If the founder of the congress had not been a
great Englishman and a distinguished ex-official, such was the distrust of pelitical agitation in those days
that the authority would have at once found some way or the other to suppress the movement

Who among the following gave the statement on the establishment of Indian National Congress ?
(a) W. Wedderburn (b) GK Gokhale {c) R. Palme Dutt {d) Allan Cctavian Hume
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Ans.

87.

Ans.

Ans.

89.

Ans.

90.

Ans.

91.

Ans

frfafeg sem W faR s |

"B WRAE T ST B YRS T8l & FHal ol afe By & TwRUe U A8 A9 ok @ faftre
T g7 JWBRY 7 8, a1 $7 (GAT Tw=ifad r<iaq § a1 JfAsErd o & FaEs) 59 <l & aam
@ fom ®1§ A P aw e o |

HINOI T PN & (99 W) 399 4§ (e a8 s foar ar 7
(@) S, dSEH (b) 9. . M {c) 3R, 9T & (d) va aNFeIfdaT ge
(d)

Which one among the following is the chemical formula of gypsum which is an ingredient fo cement ?
frrrferiRaa & @ HT-T Rmem 1 Tt @ 2 o < T 0% qued © 7

(a) Ca,Si0, (b) CaS._4.2H,0 {c) CaO (d) CaSO,.3H,0

(b)

Which of the following statements in connection with the properties of water is/ are correct ?
(1) Water has higher specific heat in comparison with other liquid

(2) Water has no dipole moment

(3) Water has low heat of vaporization

Select the correct answer using the code given below

(a) 1 only (b) 2 and 3 (c)1and3 (d) 3 only
A D e b ae i Efofag Sy e W A s A R S 8 7

(1) 379 =4l B g § o Bl fAfRre S smarhd S § |

(2) 7 &1 fgya argel =8 2|

(3) 9t & T a2

R fag Y FHe B TR FN G IR JH |

(a) BT 1 (b) 23R 3 (c) 13k 3 (d) ®aa 3

(a)

The bond which is present between water molecules is

(a) electrovalent bond  (b) covalent bond {c) hydrogen bond (d) van der waals bond
A B IS P W AT G fREE gar g ?

(a) faeT SAI9T® oEs  (b) HEAAIST e {c) TSBISM () I TR I ITET

(c)

Water is a good solvent. This is due to high

(a) dielectric constant of water {b) surface tension of water
(c) specific heat of water {d) heat of fusion of water
el 3% el faeras €| U8 s 9% B9 B PR § 7

(a) T FT WA Remi® (b) 5T F T AT

(c) o1 &1 fafdre wn {d) 5T & Helad B HE

(a)

Which of the following statements regarding the property of hard water is/are correct ?

(1) Temporary hardness of water is due to the presence of soluble magnesium and calcium hydrogen
carbonate

(2) Temporary hardness of water can be removed by boiling

(3) Calgon’s method is applied to remove temporary hardness of water

(4) Permanent hardness of water is removed by Clark’s method

Select the correct answer using the code given below

(a) 1 and 2 only (b) 1,2 and 3 () 3 and 4 (d) 2 only

FoR I & [UEH & {9 M H ffafag § § S9-91/9 $99 98 §/2

(1) 9 F IR BoRd, 399 IURed faca = oW ik Hfedmm sregiay sElae $ R g6l 8
(2) 9Tt 1 ATl FoRdl, A" o FHG B W1 Fhal g

(3) 9 @) AR HORAT 53 BN @ ford FTo Ay &1 war far omar §

(4) 97 @ RIEN FARAT Frd A §RT g3 P IR

e ey Y @mE @1 9AN wR WE SR g

(@) BT 1 T2 2 (b)1, 27213 {c) 3 AT 4 (d) BIa 2

(b)
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92.

Ans.

Sol.

93.

Ans.

Sol.

94,

Ans.

95.

Ans.

Sol.

96,

Ans.

Sol.

An ant is moving on thin {negligible thickness) circular wire. How many coordinates do you require to
completely describe the motion of the ant 7

{a) one (b) Two (c) Three {d) Zero

Th el TF qde (70 HIgg) AR ik R gedl & | @] i @ geiaa goiE e @ oo fea
o & argeaddr 2 7

(a) U@ (b) =1 (¢) T (d) T

(b)

Circular motion is a two dimensional motion, two co-ordinates

If d denotes the distance covered by a carin timet and g denotes the displacement by the car during the
same time, then :

Al d yd Y gl HH 14 Al 18 gl ol [ofdw didl 8 afiv g udd Al HHa H die & (dwenyd ¢l fafduw
CIG AR I

(@dz|S| (byd=|S] only ©)dz=|S| (d) d< ||

(c)

Displacement is the shortest distance.

A current-carrying wire is known to produce magnetic lines of force around the conducting straight wire. the
direction of the lines of force may be described by :

{a) left-hand thumb rule for up-current and right-hand thumb rule for down-current

{b} right-hand thumb rule for up-current and left-hand thumib rule for down current

{c) night-hand thumb rule for both up and down currents

{d} left-hand thumb rule for both up and down currents

T RTINS TR, S dreld U TR S 9 A e qe—@l ®) Ieriad $e & T SIS & |
TA-GIET BT e B F i w1 awar @ 7

(a) TURETRT & fov am g5 e M sl a9 & fae S g9 e fem

(b) SURETRT % o1 S8 B8 73] Fom 3R 3SaRT @ (U 9™ g el M

(C) SURETRT &1 3=gRT &IFl & forv =fayor gwq aiver =M

(d) SURETRT i< SR =14l @ forg am g aer e

(c)

If an object undergoes a uniform circular motion, then its

{a) acceleration remains uniform (b} velocity changes

{c} speed changes (d) velcoity remains uniform
Al 1 Tug Qb dHA gl 1ld ddl 2, o) g¥b /gyl

(@) (V1 UhyHIA d-] YEdl 2 (b) 7 dgeldl 2

(€) Alel daodl 2 (d) 347 UchdHIH 4+l <edi 2

(b)

In uniform circular motion direction of velocity changes.

Aforce Fis applied on a body (which moves on a straight line) for a duration of 3 s. The momentum of the
body changes from 10 g cm/s to 40 g cm/s. The magnitude of the force F is

(a) 10 dynes (b) 10 newtons (c) 120 dynes (d) 12 dynes

! five (W1 W=e Y91 H 9d W )R $IE 9¢ F, 34 @y & foae oo @rar 2 fvg &1 997 10 IM
A G/ T IRa B 4009 A N/A D W | 9 F BT GRET F4r 2?

(@) 10 s1z= (b) 10 =ge=1 (c) 120 ST (d) 12 s1g=
(a)
F= P t_Pi = 40;10 =10 dynes
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97.

Ans.

98.

Ans.

99,

Ans.

100.

Ans.

101.

Ans.

GUPTA
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Which among the following areas is conducive forwell irrigation?
(a) Rocky land uneven surface of Peninsular India

(b) Dry tracts of Rajsthan and Gujarat

{(c) Brackish groundwater region of Uttar Pradesh

(d) Geltaic regions of Mahanadi, Godavari and Krishna

frerfafaa a=t 4 @ = qu ¥ @ fau Swde giar 2 |

(a) ITTETTE WIRA & IoWmd U9 FHHdd IS (b) TSTRRATT 3R TIRIT F Y=H 8
(C) IR Y FT @RI HIATA &7 (d) AETR! MEEe 3R @ ST uew
(d)

Humid climate, ready market and availability of cheap and skilled labour are the conditions conducive for
the production of cotton cloth. Which of the following States of India will have the highest cotton cloth
production?

(a) Gujarat (b) Karnataka (¢) Maharashtra (d) Punjab

N T & Id12A & AU 6 Fefdrg dAR R SR IR Ud F2e A0 31 Il R 21dl 8 | 9Rd

& fyfafaa Tt 3 9 59 99 3 g 99 &1 999 ofiF Iqred e

(@) ORI (b) FAlc®H {C) HERTE (d) g=T"
(c)

The requirement of water is highest in which one among the following industries?
(@) Iron and steel (b) Qil refining {c) Paperfromwood  (d) Rayon
faferRea Sl § W 59 0o § 999 e Ao B Argeaddr g 87

(a) A7 IR | (b) I W= (¢) FTE A ST (d) =

(a)

Which of the following statements regarding hurricanes is/are correct?

1. They develop over the ocean between 8°—15° N.

2. They are almost absent in the South Atlantic Ocean.

3. They do not develop close to the equator.

Select the correct answer using the code given below.

(a) 1 only (b) 2 and 3 only {c) 1 and 3 only (dy1,2and 3

pie @ S A frefoflad § @ o9 § ®ue |l 8

1.9 8°—15°N & 919 T & S Aafya 89 ¢

2.3 Tfdw seenfes HENMIR H e arguierd B |

3.9 R & Jtee w78 219 |

A AU T g B gUT R FE IAY gEY |

(@) BT 1 (b) Bae 2 3M% 3 (C) HTA 1R 3 (d)1,231 3
(a)

Joint Parliamentary Sessions in India are chaired by the

(a) President of India

{b) Vice-President of India who is the Chairman of the Rajya Sabha
(c) Speaker of the Lok Sabha

(d) Prime Minister of India

WRA H Y HHS FH Pl T I Bl 2 |

(a) XA HT ISR (b) TRT &1 S, I I8 T BT AUl ¥
OGIEEREIE = (d) RGBT HLTTHA
(d)
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102.

Ans.

103.

Ans.

Sol.

104,

Ans.

105.

Ans.

Sol.

106.

Ans.
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Which one among the following is not a function of the Comptroller and Auditor General of India?

{a) Auditing the transaciions of Centre and state Governments relating to contingency funds and public
accounts

(b Compiling the accounts of Defence

(c) Auditing the accounts of institutions financed by the Government

(d) Compiling the accounts of States

frrfafad 9§ ¥ P9-11 T, IR & FEae iR w=rera wee o o T8 87

(a) THRFHO (ARG iR AT TRl § TNt F= T T9 TWHRI & o7 oF B T@oIRIE] T
(b) & AR BT THeT AT

(C) TRER g faaafig eenet & ol B T@IIen $

(d) T B @R B GRAT DA

(b)

Specific gravity of silver is 11 and specific gravity of iron is 8. VWhich one among the follwing is the approxi-
mate relative density of silver with respect to iron?

A A AR THa 11 3R« @1 AR Twa 8 2| F=faled § 9 $i9—a1 U6, ¢l & ang 3 &1
Afade smiide w9 27

(@) 1.4 (b) 0.7 (©) 3.0 (d) 2.8

(@)

_ _ _ density of silver
Density of silver w.rt. iron is —density of iron

Metal used to make wires for safety fuses must have

(a) very low resistivity and high melting point (b} high resistivity and low melting point
{c) low resistivity and low melting point (d) high resistivity and high melting point
e T 2 ™l @ £ § e arg §

(a) = wfaRigdar @R S=a TomrE 841 & =Y

(b) S=a gfaRigedar &R g7 T ie 8T & ATy |

(c) = ufoRiEdr 8iR g+ T B & @Ry |

(d) S ufoRiEar 8k Sw TaE g & @Ry

(c)

A positively charged particle projected towards west is deflected towards north by a magnetic field. The
direction of the magnetic field is

(a) towards south {b) towards east

(c) in downward direction {d) inupward direction

of¥em B 3R 9@fT o gT—maft F1 fHl g 89 FR TR 9 o) feafem 8 o B ) g &9
) fem @ &°

(a) T B AR (b) T@ & 3 (c) STyl fem & (d) SeATr H

(d)

F=qvxB

Which one among the following films won the prestigious Golden Globe Award, 2013 in the best motion
picture—Drama category?

{a) Life of Pi {b} Argo {c) Lincoln {d) Les Miserables

frfafea & 3 f5a vo e 7 ad 2013 § Faiepe Fafrm—ea it § gfem M @ [REFR
SHar?

(@) TTIH T T (b) 3t (c) fim= (d) a1 fiorr=

(a)
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107.

Ans.

108,

Ans.

109.

Ans,

110.

Ans.

1.

Ans.

112

Ans,

Ward Cunningham is famous for developing for the first time

(a) the free encyclopedia on Internet {b) a computer language called ‘Java’

(c)a digital camera (d) a software which can take Hebrew language as input
die wfem aduem @1 fAefia o @ foau ufag 87

(@) T, sevie R FRiges fIvaew (b) Fgex w91, 5 oaT @ R |

(c) @B HAN (d) HiveaaR, St fag w1 & e & 9 3 o g@Har g

(a)

Catch me if you can is a Hollywood movie made on the life of Frank Abagnalc who was

(a) a famous lawyer (b) a famous swimmer
(c) a famous sprinter (d) an infamous imposter
%4 H IE J B, Th BNIgS Foga, HF A B oaT W T 8, ol
(a) U= aBHIA A (b) I=TT AMF

(c) U%erd <ig YT o (d) {Ea A o1

(b)

Who among the following is a sports-person who has won the maximum number of gold medals in Sum-
mer Olympic Games?

(a) Paavo Nurmi (b) Carl Lewis (c) Michael Phelps (d) Mark Spitz
9 W B MW Aafad Wl § srfipaq S § Weiuge widy arar fadrst 87
(@) Trar g (b) Pl Ygd () AEFe B (d) w1 R

(c)

Anthony De Mello Trophy is associated with test cricket series played between

{a) Australia and India {b) England and India

{c) England and Ausfralia {d) South Africa and India
e S Al e fe=a dm Well M arell o fhae g@ar § gwig 87
(a) offegferm ok WRa (b) 717s 3R WRA

(¢) 37dvs 3R i foran (d) =31 s &R YR

(b)

Which one among the following European countries has the maximum number of running nuclear reac-
tors?

(a) Germany (b) Switzerland {c) France (d) Norway
frfaiaa § 9 & a9 3 A i I § @1, Aifera Rugex 27
(a) =TH= (b) Racwevs (c) miH (d) =rd

(c)

Which one among the following has completed thirty years of its development on 1st January, 20137
(a) Transmission Control Protocol/ Internet Protocol (TCP/IP)

(p) Computer Network

(c) Sodcial Networking Sites

(d) Network Control Protocol (NCP)

freafoRed 3 9 e t& 7 1 99a 2013 91 oo fAew & fi 98 R fag 27

(a) "9 fE=or Wietdia,/§evnc Hislsia (TCP/AP) (b) YR “cad

(c) SHIf® AcafdT dge (d) “ca® v dierdia (NCP)
(a)
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113.

Which of the following statements is/are correct?

1. The 14th Finance Commission was constituted under the Chairmanship of Shri Vijay Kelkar.

2. The 14th Finance Commission has been specifically asked also to recommend how non-priority PSUs
be relinquished.

Select the correct answer using the code given below.

(a) 1 only (b) 2 only {c) Both 1 and 2 (d) Neither 1 nor 2

fr=fofaa § & BiF—w1/dea |8 &7

(1) 2 faoma Sorax 1 e | Aregd 99 A @ T ga |

(2) dreed fag oma w1 Ry w0 & s W fawifver &9 @ forg ®er o & Av—werfiear ura PSUs
BT fF gewR T T o |

1 27 U B W 9T R 98 SR g |

(a) HTA 1 (b) BTA 2 (c) 1 iR 2 2141 (I 13T D2
Ans. (d)
114.  Which of the following statements isfarc correct?
1. UN General Assembly in November 2012 adopted a resolution banning death penalty.
2. India voted against the resolution.
Select the correct answer using the code given below.
(a)yl only (b) 2 only {c)Both 1 and 2 (d) Neither 1 nor 2
frrafafed ¥ ®E-—ar/Fo9 F& &7
1. FmR 2012 W Gy % M1 YIS R AH M H Hed 3971 |
2. 9Rd 7 39 Adhcd & O H Aq fFam
9 fag T HE B TET #RFE W A |
(a) @ad 1 (b) Had 2 (©) 1 3R 2 g1 (T 1ARTEH2
Ans. (c)
115. Which one among the following stock exchanges was closed for two continuous days in October 2012
due to the devastating effects of hurricane Sandy?
(a) New York Stock Exchange {b) Toronto Stuck Exchange
{c) National Stock Exchange of Australia {d) London Stock Exchange
frrfoaa 6 & -9 (@ IR 99IR, 3Fea) 2012 9 4 u9o & fOAreR) R & SR aar
4 faei @ fore g =Y
(@) IT® AIR TR (b) ST AR IR
(c) o @ =l ¥R AR (d) T AW groe
Ans. (a)
Directions :
The following eight (8) items consist of two statements, Statement | and Statement 1. You are o eéxamine
these two statements carefully and select the answers to these items using the code given below ;
Code:
(a) Both the statements are individually true and Statement 1l is the correct explanation of Statement
(p) Both the statements are individually true but Statement 11 is not the correct explanation of Statement |
(c) Statement | is true but Statement 11 is false
(d) Statement | is false but Statement Il is true
RAda:

f=rfaiaa are (8) gearen H & ®uF 2, FUA-13 FUT-1I ATIHI 39 IF1 FUAI S Aragr49dF
glelT BRAT & I YAl ® 9TR A" &Y Uy 2 T 99T B FgAAl 2

He:

(a) T4 HT @ftear 9 & i ®Ua-1I, FUT-1 BT TL WLIHI 2 |

(b) T BT Hftcdr A & @fea v waa-II, daa-1 &1 8] WEIHI F8 2 |

(c) FUT-1 AT 2 ofHd FAT-1I, 387 2 |

(d) dUF-1 A1\:g & odfed sa-1I, 9c3 2 |
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1186.

17.

Ans.

118.

Ans.

119.

Ans.

120.

Ans.

Statement |
Insolation is greatest when the sun is directly overhead and the sun’s rays are vertical.

Statement Il
When the sun is lower in the sky, the same amount of solar energy spreads over a greater area of ground
surface, so insolation is lower.

HUT-1

oa g4 dg ey grar 8 ok g @ fp) Seafar Bt 8, 99 y@iau siman g

FHAT-11I:

T qd Fre § srdenma N AT B, 9 WX S F 3D & AT HYS F AVTHT 93 AF
O3 B Sl R, a@ gafaw serga A gar )

Statement |

The Russian Revolution of 1917 inspired the Indian working class movement.

The Non-Cooperation Movement (1921-22) saw the involvement of the Indian working class.
FAT-1

1917 B =0 FIfd T TRAT SR T3 =T 1 URka 6|

FT-11:

JFFTM A=A (1921-22) H IRAT FIR T B A @] 17|

(b)

Statement |

Intellectual criteria which informed the reform movements were rationalism and religious
universalism.

Statement Il

Social relevance was not judged by a rationalist critique.

Fer-1

g dAfg® Ay, f9=iR gaR aT=ieml a1 srguoe e, aagfgare ik eifffe ardmEE o |
-1

AAISS qragdl Bl abgfgaral #H™ @ g1 8] b1 74|

(d)

Statement |

Hard water does not give lather with soap.

Statement I

Calcium and magnesium salts present in hard water form precipitate with soap.
FUT-I

HOR WA AT & T A T Q@ |

FAT-1I:

H3IT ol A guiterd sfeqaq Y ANRaw @99 |99 & | 7@y g4 2 |
()

Statement |

Evapotranspiration helps in classifying the climatic types.
Statement Il
Only temperature affects evapotranspiration, hence it can be used for classifying the climatic types.

FoIT—1

g — TEcHT WAdrg UERI & GUIERe] § HErAdl Rl 2 |

w11

®IA ATGA1T AIHA—ATHITHS 7 B YA $IGT 8, A 36 TaAdrg UBRI B a1 & {30 ugwH
fear ST |w@an 2 |

(c)
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121.

Ans.

122.

Ans.

123.

Ans.

124.

Ans.

125.

Statement | :

There is a large-scale fluctuation of oil flow from oil wells prior to earthquakes.

Statement ||

Tectonic stress accumulates to a certain level, the pore pressure within a deep cilbearing stratum reaches
its breaking strength causing oil to sprout along the oil wells.

w1

HEHa & = F 98 dd @ @l ¥ 98 UMW X 0 & 92 H SaR-ag[E B 2 |

®2AF-1II;

fyad =@ gfvas vw fyefaa wav av gwe3T 81 9iar 2, T8Y d9uR & 317§ 1Y T19 TSI alsd B
Alth deb Ugd uiidl & [ wIvvl dol, delhy & AT 3 SHU [Heel 3idl 2|

(a)

Statement | :

The potential energy that results from pushing water above mean sea level is transferred to kinetic energy
that initiates the horizontal propagation of tsunami waves.

Statement ||

The vertical displacement of sea-water due to abrupt and jerky movements of fault blocks on sea-bed
gives birth to tsunamis.

FoId-1

fRerferet Soatt, T 3fied 992 a8 & SR W &1 9§71 o7 & IRITHRESY 2l 2, Thid Sai 3 saRd 21 7]
2 S YA S F SRS TR et el 2

FaT-1I:

WG [We & U WIS B FHEIAR I ACHAWR 1A & HIROT TS o B wealer gy
JATHI B wF <Al g |

()

Statement |

Indian economy has experienced slower growth rate during the years 2010-11 and 2011-12.
Statement Il :

Indian economy has experienced weakening industrial growth during the period.

w1

2010-11 31X 2011-12 99t & & vt srfemeern | amamga o gfg gv <)
HT-1I:

IA BIA @ ZIUT YIRAIG defeazel 4 AT ®I9 arell aalifis gig g3 |

(a)

Consider the following diseases :

1. Cholera 2. Tuberculosis 3. Filaria 4. Typhoid
Which of the above diseases are caused by bacteria?

(a) 1 and 3 only (b) 2 and 4 only (c)1,3and 4 (d)1,2and 4
fr=faRad 971 R fAeR #fag

1. R 2. qeH 3. Tl 4. TGS
STW H W/ FA- ¥ AT SEmei R A 27

(@) dad 13 3 (b) Hact 23R 4 (©) 1,330 4 (d) 1,2 3R 4
(d)

Consider the following statements in relation to plant tissue ‘chlorenchyma’:

1. It is formed by the palisade and spongy mesophyll.

2, It 15 a form of parenchyma which contains chloroplasts. It serves to transport organic
solutes made by photo-synthesis.

4. It is a thin transparent layer which has chiefly a protective function.

(ay 1 and 2 only (b 1 and 2 only {cy2and4 {dy 1, Only
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Ans.

126.

Ans.

127.

Ans.

128.

Ans.

129.

Ans.

qeY dd BRd %de & 99§ Fafaied soAl ) fEr S

1. I8 @™ 3R Woll ToHeNdd gRT 9947 B |

2. I8 Y50 &1 U@ w4 2 (a9 §Ra d9d I ¢ |

3. 599 GEHAl A TH-AveNy g1 AT Frdtte faerar @& s gan B
SUGTE H § PIT-W/A FUT T B/E?

(@) 9 130% 2 (b) 1,2 3% 4 {c) 237 4 (d) BT 1
(b)

Consider the following statements regarding osmosis in animal cells ;
1. If the water potential of the solution surrounding the cell is too high, the cell shrinks.
2. If the water potential of the solution surrounding the cell is too low, the cell swells and bursts.
3. ltis important to maintain a constant water potential inside the animal body.
4. In animal cells, water potential far exceeds the solute potential.
Which of the statements given above is/are correct?
(a) 1 and 2 (b) 3 only ©4 (d)2and 3
S BRI ¥ R & R W Eeied Ful R AR SR
(1) 7% SR & TRl 3R & Ao F oo AV 9gd afs 2ar 2 & Sifre dfad @ ol 2
(2) AT FIH $ IR IR & RAead B o fwa 987 7 a1 2, @ SRS Gaa He ol 2 |
(3) T8 T I B I R o fAvg 9713 @1 & g #eeayof 2|
(4) o] IS A S e, fAea e 9 &8 afds o 2|
SYgw H A -1/ BT qd 2/F7
(@) 1312 (b) Bad 3 (c) 4 (d) 23R 3
(b)

In India, increase in population and diversion of agricultural land for non-agricultural purposes have
resulted in the decrease of

(a) forested land {b) cultivable wasteland

(c) net socwn area {d) double-cropped area

HRA H, STAEET A qeiel SR FY G R—FM yais 1 @ o0 uaRy & gRvmwasy fGad g gor 27
(@) a9 49f4 (b) = =t fA (C) T TS &F (d) oo a3

(c)

Radioactive decay provides an internal source of heat for the earth. This helps in the farmation of which
type of rocks?

{(a) Igneous (b) Sedimentary {c) Metamorphic {d) All of the above
Weartfier e goit & forU S0 F7 oTARSE Wi a1 ¥ | 9% 5w veR & 9 @ el § wens aiar g?
(a) 3MA (b) sraTeY OEARIGIEG] (d) ST® I

()

Sun emits energy in the form of electromagnetic radiation. The following help in the generation of
solar energy. Arrange them in the right sequence beginning from the starting of the cycle :

1. Hydrogen is converted to helium at very high temperatures and pressures.

2 . The energy finds its way to sun’s surface.

3. A vast quantity of energy is generated by nuclear fusion.

Select the correct answer using the code given below.

(a) 1-2-3 (b) 2-3-1 {c) 3-2-1 {dy 1-3-2

T, ol F fEa—grEeg Qe & S § Sl wxar 2| FEAfeRed A 9R el & FEo § s
U @ 2| S, ghd YR B A Y B 2V, WE P A AaRed B

(1) 959 Al 99 FR @ W FELI9A, AR § gad A« 2 |

(2) Sl, P @) FIE BT SR A B |

(3) SOl P IR AT ARG Gaaaq §RT Wi gt 2 |

a1 fag T HE B TET wR GE SR g

(a)1-2-3 (b) 2-3-1 © 3-2-1 (d 1-3-2
(d)
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130. The greatest seasonal contrast of insolation on the eath is in which of the following latitudinal zones?

(a) Equatorial (b) Tropical {c) Temperate (d) Polar

g2 R YT P SAfEan wgfs A, frafafa 4 feg sl sfeea 4 82

(a) fagac (b) Swrfeardig (c) g (d) g
Ans. (b)

131.  Consider the following statements :

(1) The Ain-i Akbari is the third book in the Akbarnama written during the reign fo the Mughal Emperor,
Akbar.

{2y Abul Fazlwas was the author of the first two books of the Akbarnama while Akbar was the author of the
third.

(3) The best known accounts of illustrated Mughal offical reports are the Akbarnama and the Babarnama..

Which of the statements given above is/are correct ?

(a) 1 only (b) 1 and 3 only (c) 3only (d1,2and 3

ferfafiaa wul R AR ST

(1) ST T—aThad] el WUIC AdHaR TSI o foIfa I sramzar W R g&id 2 )

(2) g Bolel AHAAH DI U=l &) JRIBI b o@H o, TP IHaR AR B oEGH I |

(3) FHEART IR IERAH WEF T NEFRE Rure! & waifds snd f&avor 2

SHH ¥ ¥ $9-9,/9 FAF FE 5/E ?

(@) &I 1 (b) T 1 3R 3 (c) B9a 3 (d)y 1,23k 3
Ans, (d)

132.  Consider the following statements ;
(1) Gandhiji's Salt Satyagraha in 1930 was against the State monopoly of the manufacture and sale fo
salt.
(2) The American news magazine Time' covered the progress of Gandhiji's walk to Dandi on the Salt
Satyagraha.
(3) The Vicerory of India at the time of the Salt Satyagraha was Lord Ripon.
(4) Gandhiji did not complete the Dandi March due to ill-health.
Which of the statements given above is/are correct ?
(@1,2and 3 (b) 4 {c) 2 only (d) 1and 2 only
frr=foisa el R faar s
(1) 1930 ¥ Mol & "W e, 7% @ 39 3R 379 # W & erter ® REaers o |
(2) TP TAFAR-IAET TEA A WS P, e TIUE W, SO A W B Ao |
(3) TFF WIWE & I ANG & AR ois RoE o)
(4) TRT@ WRA & HROT TMeon S0 A g T8 |
STHF # ¥ FE-T,/F FAT T B2 ?
(ay1,233 (b 4 (c) IA 2 (d) a1 3= 2
Ans. (d)

133.  Consider the following statements :
(1) Gandhiji's launched the Rowlatt Satyagraha in 1919 because of the British measures to impose cen-
sorship on the Press.

(2) Gandhiji launched The Rowlatt Satyagraha bacause of the British policy of permitted detention without
trial.

(3) The rowlatt Act was restricted to Bombay and Madras presidency.

(4} The agitation against the Rowlatt Act reached climax with the Jallianwala Bagh Massacre in Amritsar.

Which of the statements given above is/are correct ?

(ay1,2and 3 {b) 2 and 3 only {(cy1,2and 4 (d) 1and 4 anly
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Ans.

134,

Ans.

135,

Ans,

138,

Ans.

137.

Ans.

Sol.

138.

Ans.

Sol.

ffalRad sl R faar $ifsg

(1) 1919 # Tielish 71 Jeoie FAUg &1 3™ S 1) U TR AER—dL=ll o+ $ FRATS $ BRI 67|
(2) TSN A Acie TearyE B R UG @, A qepaur g RIg BT g B AN B BRer b |
(3) Jroie sffraw 94 &R 7arg ufesH a» wifag o)

(4) Jcie AfAfFram @ Reas sT<ler, SRR 3 g SIARkEl 917 §rbivs & JiY a-Aapy R ugd |
ST § F P93 T T B 7

(@)1, 24T 3 (b) BT 2 3R 3 (c) 1,2 3% 4 (d) $3 1 3R 4

(c)

The acid contained in vinegar is

{a) acetic acid (b} ascorbic acid (c) citric acid (d) tartaric acid
e o -3 Bran 8 ?
(a) vfafed ara (b) WpIfa® a7t (c) TEfEF /e (d) TERE a1

(a)

Which one among the following is not a chemical change ?

(a) Curdling of milk (b) Ripening of fruit
(c) Evaporation of water (d) Burning of coal
ferfafiaa | & d9-—w1 &, Iafas aRada T8t 2 ?

(a) g9 BT SHAT {b) A AT IHAT
(c) Tl FI A (d) BII BT ST
(c)

The acid in gastric juice is

{a) acetic acid (b} nitric acid

{c) hydrochloric acid (d) sulphuric acid
SITHTET X H HI=—4T 37 &I & 7

(a) Thfe® aret (b) TIsfe® aret
(C) BIESIFANE 3= (d) THRP 37

(c)

An object is placed at the focus of a concave mirror. The image will be

(a) real, inverted, same size at the focus (b) real, upright, same size at the focus

(e) virtual, inverted, highly enlarged atinfinity ~ (d) real, inverted, highly enlarged at infinity
¥ AIvS Ead YT F WHw W [T 2 | 3HR WA F7@w D ?

(a) BIFY W, IRAETE, AAAHT, TIIH MM T (b) BIHA W, ANAGD, SR, THM A T
(e) o0 WR. IR, UG, e fafifa (d) 391 R, aafe®, afenfia, s i
(d)

For concave mirroris u=f, v=oo

An optician prescribes a power = — 0.5 dioptre. The corresponding lens must be a

(a) convex lens of focal length 2 m (b) convex lens of focal length 50 cm
(c) concave lens of focal length 2m (d) concave lens of focal length 50 cm
BIE ACINRRE wIfdd = - 0.5 Srex ERE &ar &) 9@ <9 F1 g9 =iy ?
(@) 2 9. BIFd T & I W (b) 50 ¥ HI B1FHFH A H I o H
(c) 291 BIFH A F AaddA o H (d) 50 ¥ HI. BIHEH A BT HAdA AH
(c)

’
Pt
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139.

Ans.

Sol.

140.

Ans.

141.

Ans.

142.

A current | flows through a potential difference V in an electrical circuit containing a resistance R. The
product of V and |, i.e., VI may be understood as

{a) resistance R (b) heat generated by the circuit

{c) thermal power radiated by the circuit (d) rate of change of resistance

R wfaRiy are ft fege aituer # V fawarar R @1Y g_7 | qared 8t 8 1 VSl | & Lorwa saie VI A @i
TR W AqIE 7

(a) ufeRIT R (b) TRme N1 ST &

(c) TRy g fIwiaa s wife (d) wfewra af¥ads @t =

(b)

Thermal Power = VI

When the winds blow from all sides to the central low in an anticlockwise direction, then this phenomenon
is known as

(a) anti-tropical cyclones of southern hemisphere

(b) temperate cyclones of northern hemisphere

(c) tropical cyclones of northern hemisphere

(d) tropical cyclones of southern hemisphere

o T SR ST A SR A T &7 B R arFadt 2 § g92d 2, 99 3% 9RgedT BT 1 Pl ofidl 27
(a) =ferft Tremsd & nfa-—swrsfea Tmard (b) ST M B e TR

(c) ST 17T & FUhICaR Ahdred (d) =& e & SwreEfea=g Fwmar

(d)

The diagram given below shows the schematic relations of temperature and precipitation of tropical cli-
matic type overland :

Decreasing
Temperature

T1 2 3 4

Increasing Precipitation

Arrange the climatic types in the correct sequence from left to right :

1. Monsoon topics 2. Wet and dry tropics

3. Arid and semiarid 4. Rainy tropics

Select the correct answer using the code given below.

(a) 1-4-3-3 (b) 4-3-2-1 (c) 2-1-3-4 (d) 3-2-1-4

fa

e feram T aRE AT SIR T R SETEeEE TEary YN & g & oTaRel W S el Ea i

T? 2 3 4

ety WA B AR ¥ JR R SsEH H Sraierd $g

1. A SIS T 2. 9T $TR Y IWIHfCT

3. YW IR AdyF 4. gfcqy IwrdBfca=

AR G Y FE F T HR R IR G

(a) 1-4-3-3 {h) 4-3-2-1 (¢} 2-1-3-4 (d) 3-2-1-4
(d)

Which of the following statements relating to tsunami is/are correct?

As the tsunamis leave the deep water of the open sea and travel towards shallow water
1. the speed considerably

2 they attain enormous height 15 reduced

3. they appear as a gentle rise and fall of the sea

‘Select the correct answer using the code given below.

(ay 1 and 2 only (b) 2 and 3 only {c) 1 only {(dy1,2and 3
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Ans.
143.

Ans.
144,

Ans,
145.

Ans

G

g @ g A frefelea § 9 @1F-w/9 w98 88 7

W4 gAM g 9N & TR 99 B BIgE AR T @ AR gl §, a9

1. S G B g AT &

2.9 faema S8 wra w odr

3. 9 AFR A §% SeIE-uad Sl w21 2

“m fav U HE @ T e wE 9w g |

(a) I 1 3flx 2 (b) Hae 2 3fiv 3 (¢) ®Ta 1 () 1,233

(b)

Consider the following statements about the Indo-Saracenic archi tecture :

1. It combined the Indian with the European style, of architecture in the beginning of the 20th century.
2. The Gateway of India in Mumbai is the most famous example of this style.

3. There are many famous examples of this style in the colonial cities of Bombay (Mumbai) and Madras
{(Chennai).

4. It takes its imputation from ancient Greece.

Which of the statements given above is / are correct?

(ay1,2and 3 (b) 2 and 3 only (¢) 1 and 2 only {dy 4

fEre—grmd A & AN Frefaig sl W™ ER S

1. 2041 o) & AR H TEH ARG ARG B AU G-l B Ay FAIoT g9 |
2. 493 F g 3w g g el o1 waifas 9fg Ie 2|

3. AR (g72) iR #e™T (F1s) & SIfafie =’ 4 39 9ell & oFd uiig SeTee 2

4, 3 AT ARGV YA A A o 2

SEF H q ST/ T W B8 7

(a)1,23M33 (b) TaA 2 3717 3 () ®aa 13k 2 (d) 4

(b)

Which of the following statements is/ are correct?

Under Article 200 of the Constitution of India, the Governor of a State may

1. withhold his assent to a bill passed by the State Legislature

2. reserve the bill passed by the State Legislature for reconsideration of the President

3. return the bill, other than a money bill, for reconsideration of the Legislature

Select the correct answer using the code given below.
{a) 1 only (by 1 and 2 only {c) 2 and 3 only (dy1,2and 3

ferfefiaa & 9 SiF—a,/9 T 92 2/8 7

AR @AY B TS 200 B S 9T B AU

1. 353 & e avsa gR1 i fgas | ol ergafa A% Fwar B

2% & [dUl= Hugel giel difid fdBad &) auafd & A & [Hu aeiSid v ddbdr 2
3. Rg7s F1 9v 9% & @, [ue qvse g gAfder & fau @l e 2

A f3U 7T wE B FET R FJE SR gy |

(a) 1 T (b) HaA 1 3f1X 2 (C) HTA2 3R 3 (dy1,23R3
(d)

Point out the difference between the local government in India before and after the Constitutional Amend-
ments in 1892 :

1. It has become mandatory to hold regular elections to the local government bodies.

2. 1/3rd positions are reserved for women.

3. Elected officials exercise supreme power in the government.

Select the correct answer using the code given below.

{a} 1 only (b) 1 and 2 only {cy1,2and 3 {d} 2 and 3 only

MRE T XA RET 4 1992 1 gU WiAsTiE WRNa U goel SR 91w & TR HI FwI50
1. I 3e e &1 Fafia Faies s rede 8 T

2. vs—fiaEg 98 Afedel @ foy amRfema 2|

3. fraifaa afdert s # wat=g wifed &1 9917 &d 2

A for T HE @ TET R FE I AU

(a) BIA 1 (b) T 1 3R 2 (¢)1,23%3 (d) Ba= 2 3 3
(b)
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146.

Ans.

147.

Ans,

Sol.

148.

Ans.

Sol.

GUPTA

CLASSES

www.guptaclasses.com

The President of India is elected by proportional representative system by a single transferable vote. This
implies that

(a) elected MPs and MLAs of States have different number of votes

(b) all MPs and MLAs of States have one vote each

(c) all MPs and MLAs of States have equal number of votes

(d) MPs of the Lok Sabha have equal number of votes

Rd #1 g ol sTarfae afifiie aeft & oaR e wwmwoia w9 g faifaa g 2 ) s ffeand
z o

(a) Fraife I9g aawi & T=gl @ Ry 99 qadl & A7a) 3 S - g B

(b) T Tae AW iR Tl P I W vewi 3 ¥ U0e & A9 TP B

(c) il wvre It oiv oo @ Rgm ot I P WAl = R/ER 2

(d) F TN P TOT TS D A F) GEI R/ER B

(b)

A particle is moving freely. Then its

(@) kinetic energy is always greater than zero

(b) potential energy is greater than zero and kinetic energy is less than zero
(c) potential energy is less than zero and kinetic energy is greater than zero
(d) potential energy is zero and kinetic energy is less than zero

BE FY WAAAGAP TTAE 2 | T SHDI
(a) Mfas St wRa T ol 8
(b) Rerfawt sott 3 A afdrs iR fow oot 3@ @ &0 2
(c) Rerfaw Sl T & &4 IR 7fas Soil T & ol @
(d) Rearfast wofl I 2 3R oS ol 0 4 39 2
(a)
Kinetic energy is always positive.
The displacement of a particle at time t is given by
¥ = ai+ bt + 2 %
where a, b and ¢ are positive constants. Then the particle is

{a) accelerated along lnﬁdirection (b) decelerated along k direction

{c) decelerated along ] direction (d) accelerated along ] direction

A A C A e -
wtq’\fﬁa—miﬁwaﬂﬁﬁwqﬁi=ai+btj+Elzkm%mw%,mﬁ?a,bsﬁ?caﬂwélaﬂw

@) k-fen & orfw <Ra & ®) k fem & argfee wfia 2
(©) | frem & agfiw wRe 2 @ e @ sgfre @Ra ¥
(@)

Xcoon:linate =a

ycoord ifnate = bt

= Etz

Zouordinahe 2

velocity along x-axis is zero
velocity along y-axis is constant
velocity along z-axis is changing
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149.

Ans.

150.

Ans.

GUPTA |

Gravitational force shares a common feature with electromagnetic force. In both cases, the force is

(a) between massive and neutral objects {b) between charged objects

(c) a short range {d) a long range

T 9 3R fIga—g=a 9a 4 @ SWafis qerel B | s Rl 4, 9a

() T 3R sad= fIvsi ¢ 99 2 (b) 3mf¥a sl @ = 2

(c) FIs 7Y R ¥ (d) ;g <k g @

(d)

The spread in colours in a rainbow on sky is primarily due to

(a) dispersion of sunlight (b} reflection of sunlight

(c) refraction of sunlight (d) total internal reflection of sunlight
IMHTY H =Y & I F hee g

(a) - F oo 2 (b) F—THR HI WEdT B

(c) GH—TPTY HT 39ae 2 (d) F—IHT B 0 ITARe RIEdE 8
(a)
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oig TF YH I8 THETT GRael Gia #1 7 Hel Y 99 9% 9 id

gk
Ad¥. : B-MCZ-M-FZS &1 gl sigsa
Serial
uRieToT gt
A ATl gRieqoT
T9g ;& gve 3R diw e ——

LRl

1, gleT UR™ g B I 918, U 59 ukiewn gRaer S gsdrd saed a1 o b 39H a1 faen val, we
AT GET TN T AT WY i A w1 AR v B, W@ o5 T whemr gRaw | agq e
2. Fua @ @ i OMR ST 93 # S| WM @), va TER Y qdien gRas 9w i A, B, C
D ®l, wu= | wa faan f0 9@ o favfd @ a9 3R qeag a3 o e seitear &t ) fasi
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